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If corporate taxes  à    Tax subsidy on debt interests à   
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    V à   APV (See Problems 3, 4 and 5)  

 

 

 

 
      �     Cost of financial distress 
      

 �    Probability of not fulfilling payment obligations on time 
      

 à Cost of financial distress tends to offset the advantages of debt 
    à  The optimal debt/equity is: some, in order to reduce corporate tax, but not too much. 
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In all equity firm R0 = RWACC = RS 

 

          RWACC = ROA 

 

       RWACC = ROA 

    

Assets =Liabilities + Equity 


